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2ABASTG - 243 TST3Y( 14R40 (56.8) (56.8)
2ABASTC 0. 2ABASTC ASA-U3VE36 13AA3A3Y (373.6) (373.6)
ZAUBTCAC USBA%C 20834008 -U4i0¢ 18ha0 19,965.0 19,965.0
TI»03AUAVCUG USFKC -. EGxUG UCGY. 1Afi&6 (364.2) (364.2)
»03f04YCUG -. Uai=wases N 1 1anaoc NGUY3Yania- il (545.3) (545.3)
M»03A0AYCUC USHUG F3ATavas N 1 1Af4a0 (2,349.0) (2,349.0)
M»03A04YCUC -. 8SARAESYC N 2 2&f&6C NCUY3Yaria- il (30.1) (30.1)
»03f0AVCUG -. OA3YAEC ACT 1 1&hac¢ NGUY=Yadia-ail (1,557.9) (1,557.9)
I»03A04YCUC -. TSAUGAC AGT 2 1&A4a0¢ NCUY=VaRa- 4l (459.9) (459.9)
»03f04VCUG -. 26W0=04iC 1afasc NCUY3Yaia- il (164.1) (164.1)
M»03A0AYCUC -. T»03NATCHC *&RA6C NCUY=3Yana-adl (3 2297) (3 2297)
»03A0AVCUC -. T»03U3T3Y¢ UCeY 1ARA6C
ficUY=Yana - 4iU (628.0) (628.0)
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- 0&f=-(400C AT 1 UGGV LAR&s (74.8) (74.8)
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E4é4i U3AinC 8ACT=TC N 4 14R46 (1,679.9) (1,679.9)
E&éa6 USfikC 0. 13Y204AC AGT 28 UGgY 1&RA0C
ficuy=Yana-4iU (438.9) (438.9)
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E4640 USHKC U. 8 »+3Y3T3YC AGT 5 1846 (91.9) (91.9)
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PCAZTC USAKC -. ~ STA3(C 1&h46C NCUY3Yana- 40 (39.9) (39.9)
[T=1408C UG -. TaAGC 1anad (29.2) (29.2)
[T=T46RC USHKC -. 2a3¢AC 1AM46 (100.1) (100.1)
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&lasvqug USikg -. Eai 1anac (380.9) (380.9)
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2AUSTCAG -. 203 TY3T3Y 18740 (9.4) (9.4)
2AUSICAC -. 2TYSECxC 1aia0 (50.0) (50.0)
2AUSTCAG 0. 2AUSTCAC ~3BEISYG 3YT3Y 1aR46 (1,377.5) (1,377.5)
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07 03 01. B2 1a5A3UCY QuU» I'TY»AC NCUY3Yafia- aiUu (139.4) R (139.4)
R E
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=5=3aial 800,000.0 98,950.0 31,050.0 670,000.0
ance

164



P3TT3640UY»AC +—4+4EATAIATYY»AA (B TE26400Y»AA I»ATST »Y 1AZT3Y YR3YAT, CeT

~lade»w30gY Yi=3%»0ai0Y»AA° +=T= - I»fiail)
I13Eé»iC
-&iil=631T3Y
il B RV 18295°8L ©1 T21=2320U°8K p— 3(1 ATaplr AET TSEEST»E31Y»i¢
g o
Ui1202600°8A [=Eenfc __
AVLfi=V4si Y2E3. I3l T3%4AT3-
= 03 I=sistA Teagwst T=acwst Y IAEY - Sl T=a0T=t
i N ReY=hihasAlay Vafia- a1l OEAMSTSY " 280 =Eeh
w o u HCS-USAHS - A=T3Y
SREST3Y0V»A
1 2 3 4 5 6 7 8
&3fUrAC ~ 63AUZTaRAIUY»AC 40 TASYEART3ICY
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DD 48 WCT3YAIAI3Y LARU»AC 1035 HAR3USEC
»i3Yaria- 4l (40,300.0) (40,300.0)
Of "3V 42030C 13AaaAISY A»T3T3Y
a3lasvali=y 1363413y -Vig (11,500.0) (11,500.0)
ofi"3Y 12030¢ 13iEaAl3Y U»1iadaiCT»Ye
I3E3T3Y b»YUC T»A3Yaia - 450 (3,700.0) (3,700.0)
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100,000.0

100,000.0
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24,700.0
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DD 1363 13Aa0AISYY 36AYA»A DD 46 WCT3YaiAI3Y
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50,000.0

50,000.0

DD T=¢313140AI3YY 36AVA»A DD 46 W CT3YaiAIZY
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USEAE3(CY - T»AC UayT3Aail

14,974.2

14,974.2

DD T=363T3140A03YY 36AYA»fi DD 46 WCT3VAAISY
Of"3YC U2030¢ 13A5aAISY &» T 3T3Y
a=lasvaii=y 1363(40A03Y -V1¢ I3/E=T3Y R»Yue

12,500.0

12,500.0
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9,100.0

9,100.0
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I3AE3T3Y B»YUG CYyailU=06Cay T»Yuiiaye

7,900.0

7,900.0
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4,500.0

DD 1363 13A4IAISYY 2¢AYA»A DD 46 WCT3YaiAI=3Y
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DD 1363 T3A40AISYY 2¢AYA»A DD 46 WCT3YaiAI=3Y
HARUSAC 1033 LARSUZEC - 3H3USTITIAZAUSY,
T3A63(3T3Y 13641603V, T3A63(C SAT30CY
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